%%%ﬂ ﬂ& 3 5l ) Sl

- Al G
(%)2 + (—é) = (—%)2 _ % _
(%)2 - (—%) = (%) _ é _

S RGHE Syl
3P - C5)-
(—%)2 + (—3) = (%)3 . % _
3= Ly
(5 +(5)- -1
373" (3)+ ()
3+ - dyel-
(%)2 +(—%) = (—é)—(_%) _

www.snowmath.com


https://www.snowmath.com

2, _1 :_L
(37 + ()= 159

2003y 9L
(=D =105

1, 1. 29
(_Z) - (—g) =10

il
108

3 -7~
(5 + =)
-5
(37 +(5)=(2)
(352
éf+l=§:11

2 2 2

1, 1l 3
(P +EP =1

Al s

1. 1 3

(5)3 T3 (——40)
2, 2 07

(6 " (735~ Cigo)

11 1
(7 370)

3 1

G+ =7

1 1 5
& 1712

BN
( g) ( 5)—5

www.snowmath.com



https://www.snowmath.com

